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()2 T#228®zR, 3k (a) &%Henr Fayol, 1841-1925) (b) #1{8(Max Weber,
1864-1920) (c) Z #(Frederick Winslow Taylor, 1856-1915) (d) H4%(Gantt)

( ) 3 When Google purchased YouTube, a company that featured different, but related products,
Google was engaging in which of the following? (a) concentration (b) forward vertical
integration (c¢) backward vertical integration. (d) diversification
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() 5 The line of authority that extends from the upper levels of management to the lowest levels
of the organization is termed the . (a) chain of responsibility (b) unity of
command (¢) staff authority (d) chain of command

() 6 ATATHKILENIESITHER? () AR BTLATHABR HAETHEE (b) AEZR
FROE R TR C) MAEERMLENAT (d) MEERE

() 7 Almost all managerial tasks involve . (a) decision making (b) technical skills
(c) long-term planning (d) superb political skills

()8 URTHAHAELENEHEERB,P TR B RBIGLELEEME? () #HE
# (b)) 22 (o) HEARY ) THAHE

( ) 9 In a team structure, . (a) there is a clear line of managerial authority (b)
authority comes from top managers only (c) there is no clear line of managerial authority
(d) no one has the authority to make decisions
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() 16 In which of the following cases has communication occurred? (a) Gary updates his blog
regularly, even though no one reads it. (b) Brian attends all the Algebra lectures, but is
unable to understand the subject. (c) Jen has sent an urgent e-mail to her Japanese
colleague, but a translator is not yet available. (d) Ana tells her manager that she needs a
new computer, but he says that the company can't afford it.

() 17 R HREASEHMATHRFE RN BEFE 0 AT P88 A RATIT
P10 T R BT PUES A (@7 e (b)) A& AL (©FF

BB P (d)iFA2 B3R P4k

() 18 A dual chain of command is the key characteristic of the structure. (a) matrix
(b) project (¢)team  (d) virtual

() 19 According to Herzberg's two-factor theory, which of the following is a motivator? a)
working conditions b) salary c) responsibility d) security

( ) 20 The managerial grid used the behavioral dimensions "concern for people” and
and evaluated a leader's use of these behaviors, ranking them on a scale from 1 (low) to 9

(high). (a) "concern for integrity" (b) "concern for profit" (c¢) "concern for
environment" (d) "concern for production”
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(1) Bk R ek

(2) B 424 12(Management by Objective)
(3) #+4& T 1% & (Slashie)

(4) #% %

2. BEAAAE TG R GEMHEENEL > FURTENH W R RRART T RERH °

3. HJE A 4 5% 45 (Michael Porter) &y /1 4 #7 4% A (Five Forces Model) » 447 38 R F #%
(iPhones) &4 #% 15 %




